
CHEMISTRY

NCERT - FULL MARKS CHEMISTRY(TAMIL)

COORDINATION COMPOUNDS AND BIO-

COORDINATION COMPOUNDS

Self Evaluation A Choose The Correct Answer

1. Which is a double salt ?

A. K2SO4. AI2(SO4)4.24H2O

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_kTMfqbIvsviJ


B. NaCI

C. 

D. KCI

Answer:

Watch Video Solution

K4[Fe(CN)6]

2. An example of complex compound having

coordination number 4

A. 

B. 

K4[Fe(CN)6]

[Co(en)4]CI3

https://dl.doubtnut.com/l/_kTMfqbIvsviJ
https://dl.doubtnut.com/l/_FNUM3cPFmD2H


C. 

D. 

Answer:

Watch Video Solution

[Fe(H2O)6]CI3

[Cu(NH3)4]CI2

3. The geometry of  complex ion

A. Linear

B. Tetrahedral

C. Square planar

D. Angular

[Cu(NH3)4]
2 +

https://dl.doubtnut.com/l/_FNUM3cPFmD2H
https://dl.doubtnut.com/l/_YU8cTTYF17Oh


Answer:

Watch Video Solution

4. An example of a chelating ligand is

A. 

B. Chloro

C. Bromo

D. en

Answer:

Watch Video Solution

NO
−
2

https://dl.doubtnut.com/l/_YU8cTTYF17Oh
https://dl.doubtnut.com/l/_FdDyvkrWgyyV


5. The geometry of complex ion  is

A. tetrahedral

B. square planar

C. Octahedral

D. triangular

Answer:

Watch Video Solution

[Fe(CN)6]
4 −

https://dl.doubtnut.com/l/_FdDyvkrWgyyV
https://dl.doubtnut.com/l/_fKnfbqI1aoAa


6. The oxidation number of nickel in the complex

ion  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

[NiCl4]2 −

+1

−1

+2

−2

https://dl.doubtnut.com/l/_VSiTyDJZudzO


7. Which is not an anionic complex?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

[Cu(NH3)4]CI2

K4[Fe(CN)6]

K3[Fe(CN)6]

[NiCI4]2 −

8. The geometry of is[Ni(CN)4]
2 −

https://dl.doubtnut.com/l/_BE10D3FpGafz
https://dl.doubtnut.com/l/_TKhE8TsR4aSG


A. Tetrahedral

B. Square planar

C. Triangular

D. Octahedral

Answer:

Watch Video Solution

9. An example of an ambidentate ligand is

A. 

B. 

CN
−

CI
−

https://dl.doubtnut.com/l/_TKhE8TsR4aSG
https://dl.doubtnut.com/l/_KvQxpiikryLD


C. 

D. 

Answer:

Watch Video Solution

NO
−
2

I
−

10.  Paramagnetic because

A.  is a weaker ligand

B.  is a strong ligand

C.  is a flexidentate ligand

D.  is a chelating ligand

[FeF6]4 −

F
−

F
−

F
−

F
−

https://dl.doubtnut.com/l/_KvQxpiikryLD
https://dl.doubtnut.com/l/_M8cwgL6JAKEs


Answer:

Watch Video Solution

11. In  the central metal ion is

A. Fe

B. 

C. 

D. 

Answer:

Watch Video Solution

[Fe
11(CN)6]

4 −

Fe
2 +

Fe
+ 3

CN
−

https://dl.doubtnut.com/l/_M8cwgL6JAKEs
https://dl.doubtnut.com/l/_7L013UQusgsX


12. The coordination number of Ni(II) in

 is

A. 2

B. 4

C. 5

D. 6

Answer:

Watch Video Solution

[Ni(CN)4]
2 −

https://dl.doubtnut.com/l/_7L013UQusgsX
https://dl.doubtnut.com/l/_xnnweUyJsorF
https://dl.doubtnut.com/l/_Dyy0Dwzqpfw6


13. The name of  is

A. Diamminedichloroplatinum(IV) ion

B. Diamminedichloroplanitate(IV)

C. Diamminedichloroplatinum

D. Dichlorodiammineplatinum(IV) ion

Answer:

Watch Video Solution

[Pt
IV (NH3)2Cl2]

2 +

14. For a compound

 theK4[Fe(CN)6] → 4K
+ + [Fe(CN)6]

4 −

https://dl.doubtnut.com/l/_Dyy0Dwzqpfw6
https://dl.doubtnut.com/l/_uOY7sYejDJoy


complex ion is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

K
+

CN
−

Fe
II

[Fe(CN)6]
4 −

15. A metal ion from the first transition series forms

an octahedral complex with magnetic moment of

https://dl.doubtnut.com/l/_uOY7sYejDJoy
https://dl.doubtnut.com/l/_5zHX7UlR1oO9


4.9 BM and another octahedral complex which is

diamagnetic .The metal ion is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

Fe
2 +

Co
2 +

Mn
2 +

Ni
2 +

16. Paramagnetic moment is expressed in

https://dl.doubtnut.com/l/_5zHX7UlR1oO9
https://dl.doubtnut.com/l/_CHZanWlu5FfI


A. Debye unit

B. K Joules

C. BM

D. ergs

Answer:

Watch Video Solution

17. The type of isomerism found in the complex

A. Hydrate isomerism

[Co(NO2)(NH3)5]SO4 and [Co(SO4)(NH3)5]NO2

https://dl.doubtnut.com/l/_CHZanWlu5FfI
https://dl.doubtnut.com/l/_FmJG2UqkiChF


B. Coordination isomerism

C. Linkage isomerism

D. Ionisation

Answer:

Watch Video Solution

18. What are the important features of valence

bond theory?

A. geometry

B. magnetic

https://dl.doubtnut.com/l/_FmJG2UqkiChF
https://dl.doubtnut.com/l/_auQwzBl0umou


Self Evaluation B Answer In One Or Two Sentences

C. nature of ligand

D. colour

Answer:

Watch Video Solution

1. What are simple salts? Give one example.

Watch Video Solution

https://dl.doubtnut.com/l/_auQwzBl0umou
https://dl.doubtnut.com/l/_oiP3ZBsXvuNx


2. What are double salts? Give one example.

Watch Video Solution

3. Which is a double salt ?

Watch Video Solution

4. What are ligands and coordination number?

Watch Video Solution

https://dl.doubtnut.com/l/_k1uhhBQcwrmt
https://dl.doubtnut.com/l/_frH6trmdPBoL
https://dl.doubtnut.com/l/_AUF6s1ilXSCp


5. Give one example for a monodentate ligand, a

bidentate ligand and a chelating ligand.

Watch Video Solution

6. Name the following complexes 

(a)  (b) 

Watch Video Solution

[Co(NH3)5(H2O)]Cl3 Na[B(NO3)4]

7. Write the IUPAC name for the following 

(i)  
K2[Fe(CN)3(Cl)2(NH3)]

https://dl.doubtnut.com/l/_mB7xM5U8870Z
https://dl.doubtnut.com/l/_DipP0T0DtwSN
https://dl.doubtnut.com/l/_AWKQt2K2BrXe


(ii) 

Watch Video Solution

[Fe(CN)6]
4

− )

8. Give the structure for the following compounds 

(i) Pentaamminechlorocobalt (III) ion 

(ii) Triamminetrinitrito -kN Cobalt (III) 

(iii) tetraammineaquabromidocobalt (III) nitrate 

(iv) Dichloridobis (ethane-1,2-diamine )cobalt (III)

chloride 

(v) Tetraamminecopper(II) sulphate

Watch Video Solution

https://dl.doubtnut.com/l/_AWKQt2K2BrXe
https://dl.doubtnut.com/l/_K0jru4WClirP
https://dl.doubtnut.com/l/_k5ZO56vQYs3q


Self Evaluation C Answer Not Exceeding 60 Words

9. Draw the structures of geometrical isomers of

Watch Video Solution

[Fe(NH3)2)(CN)4]
−

10. What are chelates? Give one example.

Watch Video Solution

https://dl.doubtnut.com/l/_k5ZO56vQYs3q
https://dl.doubtnut.com/l/_h3CjzPnSMMnC


1. Explain coordination and ionisation isomerism

with suitable examples.

Watch Video Solution

2. Mention the type of hybridisation and magnetic

property of the following complexes using VB

theory 

a)  b) 

Watch Video Solution

[FeF6]4 − [Fe(CN)6]
4 −

https://dl.doubtnut.com/l/_znj7YQtNynMI
https://dl.doubtnut.com/l/_bgMb2n7Mz0mB


3. For the complexes

 mention 


a) Name b) Central metal ion c) Ligands d)

Coordination number

Watch Video Solution

K4[Fe(CN)6], [Cu(NH3)4]SO4

4. How is the paramagnetic moment related to the

number of unpaired electrons in? 

a)  b) 

Watch Video Solution

K4[Fe(CN)6] K3[Fe(CN)6]

https://dl.doubtnut.com/l/_HYjQ8ntZmJP5
https://dl.doubtnut.com/l/_f7lhbDh1x14U
https://dl.doubtnut.com/l/_IpIMwNg10JqB


5. In what way  differs from 

.

Watch Video Solution

[FeF6]4 −

[Fe(CN)6]
4 −

6.  diamagnetic, whereas 

is paramagnetic. Explain.

Watch Video Solution

[Ni(CN)4]
2 −

[NiCl4]2 −

7.  is square planar, where as 

 is tetrahedral. Explain.

Watch Video Solution

[Cu(NH3)4]
2 +

[NiCl4]2 −

https://dl.doubtnut.com/l/_IpIMwNg10JqB
https://dl.doubtnut.com/l/_LdsGUkRG0Z2X
https://dl.doubtnut.com/l/_TzRfphQJNIJ8


8. What are the limitations of VB theory?

Watch Video Solution

9. The ferric state of haemoglobin is called ……….

Watch Video Solution

10. Chlorophyll in a leaf is required for……….

Watch Video Solution

https://dl.doubtnut.com/l/_TzRfphQJNIJ8
https://dl.doubtnut.com/l/_4pfxD1ntZ6an
https://dl.doubtnut.com/l/_2U4k7Kn4O5i9
https://dl.doubtnut.com/l/_5ITsQMnYhFnP



